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1. (5 or 6 pts) The following reactions all involve chemistry of haloalkanes. Fill in the box above the
arrow with the mechanism that will be followed (S\2, E2, etc.). Then draw only the
predominant product or products and please remember that you must draw the correct

stereoisomers. For Sy1/E1 reactions you must draw all significant products (including all
stereoisomers).

A.
Br
+ HO @Na@
B Cl

+ NaN3
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2. (20 pts) Consider the following statements that refer Sy1, Sy2, E1, E2, or a radical chain reaction
mechanism. Fill in the circles to indicate to which mechanism(s) each statement applies.

A. A reaction in which the predominant product is OS\2 OE2 O Radi?al chain
predicted by Zaitsev’s rule. OSy1 OE1 reaction
B. A reaction observed when tertiary haloalkanes react OS2 OE2 O Radical chain
with any nucleophile that is not a very weak base. O S\l O E1 reaction
C. A reaction that involves an anti-periplanar Osx2 OE2 O Radical chain
transition state. O Syl OE1 reaction

OS\2 OE2 O Radical chain

D. A reaction that involves initiation, propagation .
reaction

and termination steps. OSx1 OEl

E. A reaction that is favored for secondary haloalkanes when a . .
. . . Sn2 Radical ch
nucleophile that is NOT a strong base and is also NOT a very OSx OE2 O Radical chain

p
weak base is used OS\1 O E1 reaction
F. A reaction mechanism that involves a carbocation OS\2 OE2 @) Radi?al chain
intermediate. OSyl OE1 reaction

OSN2 OE2 O Radical chain

G. A reaction mechanism that involves only a transition X
O Syl OE1 reaction

state, no intermediate.

H. A reaction that causes InVERSIiON of sterechemistry at the OS2 OE2 O Radical chain

site of reaction. OSy1 O E1 reaction
I. A reaction that will occur when Br, and light are OSn2 OE2 O Radi?al chain
used with an alkane. OS\1 OE1 reaction
J. A reaction that involves initiation, propagation OS\2 OE2 O Radical chain
and termination steps. OS\1 OFE1 reaction
K. A reaction obeserved when secondary haloalkanes react OSN2 OE2 O Radical chain

with a nucleophile that is a very weak base (as solvent). O Syl OE1 reaction



